N = 0l & At & M A

2N ARNENTES
=R NS TR
SRl NN UIE MAN(LTEBE)

SN - SAGEA) - MRAY - BES 0] &k o4 0| % o
EPNEPAFSE=2.| 7,937,169 7,932,188
= 1,431,236 1,431,236

J| 849,500 849,500

= 5,656,433 5,651,452

2R BHH A3 5,815,824 5,826,824
= 1,431,236 1,431,236

J| 849,500 849,500

< 3,535,088 3,546,088

W2 X AN MAH(ZXREE) 3,707,376 3,718,376
= 1,431,236 1,431,236

J| 849,500 849,500

< 1,426,640 1,437,640

MWZHRE Mo =2 =4 22,000 33,000
401 AIEHI L 2 CHYI 22,000 33,000

01 A& HI 22,000 33,000
OAM=Z=EZHE XA E 22,000 33,000
NEES(ZUNSEESH) 15,981 0
SHEXNE 15,981 0
=% =ERFE I 0BxF BHE 15,981 0
802 gHat 3 JIEt 15,981 0

01 I DEX3tE= 15,981 0
©'188 WX ME - MAAE U 11,230 0

©'18F MZXA MXRS NEALE &= 4,751 0






